A

(20123) RO NO. cocersrveesenasarrans

B. Sc.(Ag.)(Hons.)-I Sem.

11263
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GENETICS & PLANT BREEDING
Fundamental of Genetics
(AG-102)

{New Course)
Time : Three Hours] fMaximum Marks : 50

Note : Attempt questions from all Sections as per
instructions.
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Section-A
qUs-H
(Very Short Answer Type Questions)
(afr w1y sl )
Answer all the five questions. Each question

carries 2 marks. Very short answer is required not
exceeding 75 words. 2x5=10
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B-chromosome,
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Lethal gene.
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Criss-crossing.
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Chromosomal deficiency.
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Mutagenic agents.
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Section-B
qus—9q
(Short Answer Type Questions)

(¥g Suda aw)

Answer any fwo questions out of the following
three questions. Each question carries 5 marks.
Short answer isrequired not excecding 200 words.

5x2=10
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Wl-fat do you mean by complementary gene
action ? Describe with suitable example.
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What do youmean by 'multiple factor hypothesis™
Describe with suntable example.
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Describe the sex-determination in Drosophila.

g & ferr-Fateor = ao i

Section-C
qUg-q
(Detailed Answer Type Questions)

(Frega Sadg w )

Answer any three questions out of the following
five questions. Each question carries 10 marks.
Answer isrequired in detail. 10-3=30

FreafafaT dfe gt & | B a9 oA & 9
ST T 59 10 3 1 3 forera o aTaE &

Describe the 'law of segregation’ by the Mendel.
Why Mendel was chosed garden pea for his
experiment?
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(4)
Describe mitotic cell devision in plants along WJth
suitable examples.
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Write in detail on multiple alleles along with
suitable examples.
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What do you understand by mutation? Describe it,
taking under consideration of ‘CLB-method”.
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Describe the following in short :

fFrr=rieieaa @t gest aofs AHiftra -
(iy DNAstructure
ST T
(i1) DNAreplication
gieT gfcesa
(i1i) Types of RNA
HRTAT & HHIX
(iv) Termination Codon
A HSH

(v) Transcription.
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